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Name_______________              Final Term Test (2024 - 2025)                              M.M. 50 

Roll no_____                                       Class III_____                                  Date 10-03-2025 

Time allotted : 2 hours 30 minutes                                                      Subject : Mathematics 

SECTION – A 

Q1 Tick the correct option :                                                                                                 (6) 

a) 6734 ÷ 0 = ____________. 

 i)  6734                     ii)  0                         iii)  not possible            iv)  none of these 

    b)  Which is the most appropriate unit for measuring the capacity of a medicine dropper ? 

          i)  litres                      ii)  millilitres           iii)  grams                      iv)  metres  

     c)  The weight of a sack of rice is 10260 g which is same as ________________. 

         i)  1 kg 260 g              ii)  10 kg 26 g          iii)  10 kg 620 g            iv)  10 kg 260 g 

     d)   What is the time displayed on the clock ?    

      

        

          i) 25 min past 4          ii) 20 min past 4      iii) 20 min past 5         iv) 25 min past 5 

    e)   Which of the following represents fifty rupees and fifty five paise ? 

         i)  ₹ 50.15                    ii) ₹ 50.50                iii) ₹ 55.50                   iv) ₹ 50.55  

    f)  For the multiplication fact 14 × 9 = 126, which of these is a correct division fact ?  

         i) 126 ÷ 9 =14          ii) 14 ÷ 9 = 126        iii) 9 ÷ 126 = 14          iv)  Both (i) and (iii) 

Q2  Fill in the blanks :                                                                                                        (5) 

a) 18000 ml = __________ l  

b) 7824 ÷ __________ = 7824 

c) 50 p + 10 p + 5 p + 10 p + 25 p = ___________ p  =  ₹ __________ 

d) The most appropriate unit for measuring weight of a gold ring is __________. 

e)  ₹ 70 = ___________ p  



Class III 

Page 2 of 4 

 

Q3  Dodging Tables :                                                                                                            (4) 

a) 17 × 8 = _____     b)  16 × 9 = _____      c)  15 × 5 = _____     d)  14 × 7 = ______           

e)  13 × 6 = _____     f)  12 × 4 = ______     g)  16 × 7 = _____     h)  17 × 2 = ______  

Q4  True / False :                                                                                                                 (5) 

a) 5632 ÷ 5632 = 0                                                                       ________________ 

b) ₹ 347.25 in words is written as 734 rupees 25 paise.              ________________ 

c) Quarter past 8 can be written as 8 : 15                                     ________________ 

d) In the division fact 360 ÷ 30 = 12 , 30 is the dividend.            ________________ 

e) When the minute hand is on 6 and the hour hand is between 4 and 5 , the time will  

be 5:30                                                                                      _________________ 

SECTION – B   

Q5  Ajay purchased 3 T-Shirts for ₹ 150 each , 4 pairs of socks for ₹ 60 each and one jacket  

       for ₹ 950 from Shoppers Mart. Prepare a bill for it                                                       (5) 

 

…………………………………………………………………………….. 

 

                                                                                                                                    Date      …………………... 

Name ………………………………………. Bill No. ………………….. 

 

 

S. No. 

 

 

Item 

 

 

         Quantity 

 

 

      Price per item 

Amount 

₹ p 

1. 
     

2. 
     

3. 
     

Total 
 

Q6  Put the sign < , > or =                                                                                                    (2) 

a) ₹ 269 . 15            ₹ 200 + ₹ 50 + ₹ 10 + ₹ 5 + 10 p   

b) ₹ 99 . 75             ₹ 50 + ₹ 20 + ₹ 20 + 50 p + 25 p + 20 p 

                                                                                                                                    



Class III 

Page 3 of 4 

 

 

Q7  Use the calendar to answer the following questions:                                                   (5) 

a)  What is the date on the third Monday of the month ? 

     Ans _________________________________________ 

b)  Emma will visit the library every Tuesday of   

 November 2025. How many library visits will she 

 have in this month ? 

    Ans __________________________________________ 

c)  What day of the week is 21st November , 2025 ? 

Ans ___________________________________________________________________ 

d)  Name a month which has same number of days as November , 2025 . 

Ans ___________________________________________________________________ 

e)  What will be the date one week after 12th November , 2025 ? 

Ans ___________________________________________________________________ 

Q8  Use the combination of weights – 5 g , 10 g  , 20 g  , 50 g , 100 g , 200 g , 500 g  to 

make the following weights :                                                                                               (2) 

a) 845 g of almonds = ____________________________________________________ 

____________________________________________________________________ 

b) 690 g of oranges = _____________________________________________________ 

____________________________________________________________________ 

Q9  Draw the hands of the clock to show the given time :                                                 (1) 

 

2 : 15 
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SECTION – C 

(attempt these questions on the answer sheet ) 

Q10   Find the product  – 9178 × 19                                                                                (3) 

Q11   Convert the following :                                                                                               (4) 

a) 6 kg 45 g into grams (g) 

b) 15 l 473 ml into millilitres (ml) 

Q12   There are 5392 sandwiches to be shared equally among 8 picnic baskets. How many  

          sandwiches will each basket have?                                                                             (3) 

Q13   Subtract 6 l  970 ml  from 16 l  782 ml                                                             (2) 

Q14   A grocery store received 7 kg 574 g of carrots and 5 kg 843 g of beans. What is  

         the total weight of the vegetables received ?                                                               (3)            
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Answer key 

 

 

Name_______________               Final Term Test (2024 – 2025)                             M.M. 50 

Roll no_____                                       Class III_____                                  Date 10-03-2025 

Time allotted : 2 hours 30 minutes                                                      Subject : Mathematics 

SECTION – A 

Q1 Tick the correct option :                                                                                     (6 × 1 = 6) 

a) 6734 ÷ 0 = ____________.  

 i)  6734                     ii)  0                         iii)  not possible            iv)  none of these 

    b)  Which is the most appropriate unit for measuring the capacity of a medicine dropper ? 

          i)  litres                      ii)  millilitres           iii)  grams                      iv)  metres  

     c)  The weight of a sack of rice is 10260 g which is same as ________________. 

         i)  1 kg 260 g              ii)  10 kg 26 g          iii)  10 kg 620 g            iv)  10 kg 260 g 

     d)   What is the time displayed on the clock ?    

      

        

          i) 25 min past 4          ii) 20 min past 4      iii) 20 min past 5         iv) 25 min past 5 

    e)   Which of the following represents fifty rupees and fifty five paise ? 

         i)  ₹ 50.15                    ii) ₹ 50.50                iii) ₹ 55.50                   iv) ₹ 50.55  

    f)  For the multiplication fact 14 × 9 = 126, which of these is a correct division fact ?  

         i) 126 ÷ 9 =14          ii) 14 ÷ 9 = 126        iii) 9 ÷ 126 = 14          iv)  Both (i) and (iii) 

Q2  Fill in the blanks :                                                                                             (5 × 1 = 5) 

a) 18000 ml =  18    l  

b) 7824 ÷  1     = 7824 

c) 50 p + 10 p + 5 p + 10 p + 25 p =  100    p  =  ₹  1 

d) The most appropriate unit for measuring weight of a gold ring is grams (g)     

e)  ₹ 70 = 7000    p  
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Q3  Dodging Tables :                                                                                            (8 × 0.5 = 4) 

a) 17 × 8 = 136          b)  16 × 9 = 144           c)  15 × 5 = 75            d)  14 × 7 = 98           

e)  13 × 6 = 78             f)  12 × 4 = 48             g)  16 × 7 = 112          h)  17 × 2 = 34  

Q4  True / False :                                                                                                     (5 × 1 = 5) 

a) 5632 ÷ 5632 = 0                                                                                          False 

b) ₹ 347.25 in words is written as 734 rupees 25 paise.                                  False 

c) Quarter past 8 can be written as 8 : 15                                                        True 

d) In the division fact 360 ÷ 30 = 12 , 30 is the dividend.                               False 

e) When the minute hand is on 6 and the hour hand is between 4 and 5 , the time will  

be 5:30                                                                                                         False 

SECTION – B   

Q5  Ajay purchased 3 T-Shirts for ₹ 150 each , 4 pairs of socks for ₹ 60 each and one jacket  

       for ₹ 950 from Shoppers Mart. Prepare a bill for it                                                        

 

          (1) 

  

 

          (1) 

          (1) 

          (1) 

          (1) 

Q6  Put the sign < , > or =                                                                                                     

a) ₹ 269 . 15     >      ₹ 200 + ₹ 50 + ₹ 10 + ₹ 5 + 10 p                                                  (1)        

b) ₹ 99 . 75      >       ₹ 50 + ₹ 20 + ₹ 20 + 50 p + 25 p + 20 p                                       (1) 

 

 

Shoppers Mart 
…………………………………………………………………………….. 

                                                                                                                      Date  10 . 03 . 2025                  

             Name   Ajay                                                                                   Bill no  1120    

 

 

S. No. 

 

 

Item 

 

 

         Quantity 

 

 

Price per item 

Amount 

₹ p 

1. 
T- Shirt 3 ₹ 150 450 00 

2. 
Pair of socks 4 ₹ 60 240 00 

3. 
Jacket 1 ₹ 950 950 00 

Total ₹ 1640 . 00 
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Q7  Use the calendar to answer the following questions:                                      (5 × 1 = 5) 

a)  What is the date on the third Monday of the month ? 

     Ans  17th November , 2025          

b)  Emma will visit the library every Tuesday of   

 November 2025. How many library visits will she 

 have in this month ? 

    Ans  Emma will have 4 library visits in November , 2025 

c)  What day of the week is 21st November , 2025 ? 

Ans  Friday 

d)  Name a month which has same number of days as November , 2025 . 

Ans   April , June , September ( any one ) 

e)  What will be the date one week after 12th November , 2025 ? 

Ans  19th November , 2025 

Q8  Use the combination of weights – 5 g , 10 g  , 20 g  , 50 g , 100 g , 200 g , 500 g  to 

make the following weights :                                                                                                

a) 845 g of almonds =  500 g + 200 g + 100 g + 20 g + 20 g + 5 g                                (1) 

b) 690 g of oranges =  500 g + 100 g + 50 g + 20 g + 20 g                                            (1)     

Q9  Draw the hands of the clock to show the given time :                                                 (1) 

 

 

 

2 : 15 
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SECTION – C 

(attempt these questions on the answer sheet ) 

Q10   Find the product  – 9178 × 19                                                                                 

Sol                 1   7   7                                             

                      9   1   7   8                       

                           ×   1   9  

                      1               

                 8   2   6   0   2                                                                                                        (1) 

            +   9   1   7   8   0                                                                                                       (1) 

            1   7   4   3   8   2                                                                                                       (1) 

Q11   Convert the following :                                                                                               

a) 6 kg 45 g into grams (g) 

Sol         1 kg = 1000 g                                                                                                       (0.5)                                                                                             

               6 kg = 6 × 1000 g = 6000 g                                                                                 (0.5) 

             6 kg 45 g = 6000 g + 45 g  

                             = 6045 g                                                                                                   (1) 

b) 15 l 473 ml into millilitres (ml) 

Sol          1 l = 1000 ml                                                                                               (0.5)   

             15 l = 15 × 1000 ml = 15000 ml                                                                    (0.5) 

              15 l 473 ml = 15000 ml + 473 ml  

                                   = 15473 ml                                                                                   (1) 

Q12   There are 5392 sandwiches to be shared equally among 8 picnic baskets. How many  

          sandwiches will each basket have?                                                                             

Sol     Number of sandwiches in 8 baskets   =  5392  

          Number of sandwiches in 1 basket  =  5392 ÷ 8  

                  

 

 



Class III 

Page 5 of 5 

 

 

                    8   )   5    3    9    2    (  0 6 7 4                     

                         -   0   

                                         4      13                                      

                             5    3 

                         -  4    8     

                            0    5     9      

                              -  5     6      

                                 0     3     2     

                                   -    3     2 

                                        0     0 

        Thus , the number of sandwiches in one basket is 674    

      ( 1 mark for statements and 2 marks for calculation )                       

Q13   Subtract 6 l  970 ml  from 16 l  782 ml                                                                                                             

Sol                l                       ml  

                         15                       

                          0     5                      17 

                  1   6                7   8   2 

              -   0   6                9   7   0 

                  0   9                8   1   2                                (0.5 for each column , i.e. 4 × 0.5 = 2)  

           Ans –  9 l  812 ml     

Q14   A grocery store received 7 kg 574 g of carrots and 5 kg 843 g of beans. What is  

         the total weight of the vegetables received ?                                                        

Sol                                                                          kg                g             

                                                                                                                 1                  1               

          Weight of carrots received                =          7            5   7   4     

          Weight of beans received                  =     +  5             8   4   3 

          Total weight of vegetables received =     1   3             4   1   7 

           

          Ans –  13 kg 417 g of vegetables were received by the grocery store. 

         ( 1 mark for statements and 2 marks for calculation ) 

 


